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Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks

Candidate are required to give their answers in their own words as far as practicable
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1. Answer any ten questions from the following (10 x 2 = 20)

Rt CItIAT 75 TN S| WIS:

(a) Define cost centre
ARTT @F@ F 2

(b) What do you mean by direct material?
TOTF FEME Fe® P (ER ?

(c) What do you mean by period cost?
TRAMeF ¥q6 I I @R ?

(d) Give two examples of indirect expenses.
TEAS TIF 96 SuRIT W3 |

(e) Define sunk cost.
e @I N7 w8 |

() What is inventory control system?
T fAFFT I I (@R ?

(9) What is Bin card?
5 6 F?

(h) What do you mean by spoilage of materials?
A8 FERE Tl I @R

(i) Mention any two important objectives of time-booking in labour cost management.
M- FFIAAF TN AFH@H (T@F 9fe Sl T S@E F4|

(1) Define fringe benefits.
T SYREE Taow S|



(K) Does labour turnover impact production cost? Give two reasons.
AEE ARG [ T AF@6E Tollde FE? 9o IR (77X

() What is production overhead?

T3 SRR 2

(m) Define indirect labour with two examples.
O SuRAT NIRRT ITeiF TEF & TS|

(n) How is the amount spent on research and development treated in costing?

TR 3 TFIE T A1 9@ Form 9RT@ s@wge Fa1 27J?

(o) Define semi-variable cost with an example.
TURFNE - AHIOTNT  ¥TET RS W3 |

. Answer any four questions from the following (4 x5=20)

fAToa (TR 5775 AT Sed WiS:

(a) State the objective of cost accounting.

FHTT RAFIHET S (e F7]

(b) Write a short note on purchase procedures of materials.
TIFRT T Tafo TI@ 930 WY BIFT @

(c) Write a short note on costing of idle time.
T A AT T e a6 Y G @™

(d) Distinguish between direct labour and indirect labour. Give four examples of indirect
labour that may arise in a factory.
TS M 3 FES TOE A TAFT FA| AF0 IR Sgo TE@H AH CEL

TURET T8 |

(e) A factory has one production department (P1) and one service department (Sz1). The
following overheads and other information are extracted from the books for the month of
January 2022:

Expenses Amount (Rs.)
Rent 6000
Repair 3600
Supervision 9000
Fire insurance for stock 3000
Power 5400

Additional information about departments are given below:
Particulars P1 S1
Area Sq. ft. 400 150
No. of workers 54 24




Value of Plant (Rs.) 72000 6000
Stock Value (Rs.) 45000
Horse power of plant 600 150

You are required to allocate or apportion the overheads among the various departments
on suitable basis.

RED T G|

(F) Following information is made available from the costing records of a factory:

1) Annual depreciation of machine is Rs. 9500

i) Electricity used by the machine is 10 units per hour at a cost of 50 paise per unit.

i) Repair and maintenance cost is Rs. 500 per month.

iv) Two operators attend the machine during operations along with two other
machines. Their total wages including fringe benefits, amounting to Rs. 5,000 per
month are paid.

V) Other overheads attributable to the machine are Rs. 10,431 per year.

vi) The machine effectively works for 2015 hours in a year.

Using the above data, calculate machine hour rate.

RE T 63T

3. Answer any two questions from the following (02 x 10 = 20)
fATea CIIAT 75 AT Ted WS

(a) Define costing and state the advantages that may be derived from a sound system of cost
accounting.

AT [AfF- 97 @ (1 972 936 T AT BT T[T (W@ R AE
SRSl [ge 341

(b) The following is the information by XYZ Ltd related to the first week of December 2021:
The transactions in connection with the materials are as follows :

Days Receipts Issues
Units Rate/unit (Rs.) Units

1% 40 15.00
2nd 20 16.50
31 - - 30
4" 50 17.10 -
5t - - 20
6™ - - 40

Calculate the cost of materials issued under (i) FIFO Method and (ii) Weighted Average
Method of issue of materials and also calculate the value of closing stocks under the above
methods.

RE T G|



(c) In afactory guaranteed wages at the rate of Rs. 18.00 per hour are paid in a 48-hour week.
By time and motion study it is estimated that to manufacture one unit of a particular
product 20 minutes are taken. The time allowed is increased by 25%. During one week
Abraham produced 180 units of the product. Calculate his wages under each of the
following methods: (i) Time rate, (ii) Piece-rate with a guaranteed weekly wage, (iii)
Halsey premium bonus and (iv) Rowan premium bonus.

RED T G|

End of Question Paper
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TSI FFASfE sJef 3 fo T F= |
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1. Answer any ten questions from the following. 2*10=20

(T (AT WG JIF $3F ura)
(a) What is cost?
(I3 fF7)
(b) Mention the elements of cost.
(T5T a7 TS SEN FETI)
(c) Give two examples of 'Cost Unit'.
(FZT 939 97 qfe SurRaT wisl)
(d) Define Sunk Cost.
(forifSe T57 a7 @ W31 )
(e) Define danger stock level.
(fFgoas MHe I9 a9 @ Wl )
(f) Define imputed cost.
(SMEPTe TTF 97 NS\ w81 )
(g) Define 'Bill of Materials'.
(s R a9 =@ W81 )
(h) Define 'Bin Card'.
(a6 a7 sizsT w81 )
(1) Write two names of mechanical methods of time keeping.
(P fee 9t TfES Twioq FF (@@ )
(j) What do you mean by Labour turnover?
(T ARG JM© [F (QRT?)
(k) Write any two advantages of LIFO method.
(LIFO =mfex g6 SIfRaT (el )

(1) Define Idle time.
(9 SNF a9 N8\ W1 )

(m) Classify overhead according to function.

(F5F fefere ST a7 cIfd faays @)

(n) What is Absorption of overhead.
(TfF T 97 AfeFaa F?)



3.

(0) What do you mean by Cost Reduction.
(FT2N Fa9 IM0 F @@EN?)

Answer any four questions from the following. 5*4=20

(CT (FTCET 613G JTIF S8 F wI3)
(a) State in brief, the pre-requisites of installing a good Cost Accounting system.

(93f6 Te AT RIFEST Tafer TIEE T S {3 FET ) 5
(b) From the following information calculate:
(i) Re-order level, (if) Minimum level and (iii) Re-order quantity
Maximum Stock level: 8400 kg. Budgeted consumption: Maximum 1500 units per month, Minimum 800 kg per
month. Estimating delivery period: 2 to 4 months. (R@E& o7 ©871) 5
(c) In a week in the month of December, 2022, A worker prepared 240 units, working hours during a week are 48
hours, Standard rate is Rs. 5 per hour and standard time to manufacture an article is 15 minutes. Calculate his
gross wages for the week according to (i) Halsey premium bonus plan and (ii) Rowan premium bonus plan.
(@& 7T 98T 5
(d) Noni Ltd. has three production departments and two service departments. Distribution summary of overheads
is as follows.

Production Departments Service Departments

A Rs.27200 X Rs.18000

B Rs.29400 Y Rs.6000

C Rs.25600

The expenses of service departments are charged on a percentage basis which is as follows:
A B C X Y

Dept. X  40% 30% 20% - 10%

Dept.Y 30% 30% 20% 20% -

Apportion the cost to service departments by using the Repeated Distribution method.
(RES o9 w'TvI) 5
(e) Distinguish between allocation and apportionment of overhead.

(ST 97 TANE @ AANeSF WM FBEF N MNFT FET ) 5

(f) Distinguish between Direct Material and Indirect Material.
(TSTF FITa 8 TES NEd FE NAF FET ) 5

Answer any two questions from the following. 10*2=20

(1T ‘i?zﬁ 1€ T R )
(a) Distinguish between Financial Accounting and Cost Accounting |

( YT RREST 8 AFTT RINFITEF J&y TF FET ) 10

(b) State the factors to be considered at the time of selection a particular method of material pricing.

(@R T 17 mfe 6@ @@ @@ @9 ({37 [{Esa 9@ o g0 F@1) 10

(c) The particulars of receipts and issues of a material ‘Z’ during January 2022 are given below:

Date Particulars Units Rate (Rs.) per unit
Jan 1 Opening Balance 1000 24.00

Jan 3 Issues 600

Jan 6 Purchases 450 25.00



Jan 8 Issues

Jan 12 Purchases

Jan 13 Issues

Jan 15 Returns from workshop

(Issued on Jan 3)

Jan 22 Purchases

Jan 24 Issues

Jan 27 Issues

Jan 28 Purchases

Jan 31 Issues

Additional Information:

A shortage of 15 units was noticed and recorded on Jan,9, 2022.
Prepare Store Ledger Account under LIFO system.

(R@ES o7 G8F)

(d) From the following particulars you are required to calculate:

500
600
250
50

350
300
500
500
300

10

(i) Works Cost, (ii) Cost of Sales, and (iii) Profit per ton of Commodity X

Purchase of raw materials
Direct wages

Rent, rates, insurance and other factory expenses

Sales — finished goods
Carriage inward
Opening Stock:
Raw materials
Finished goods (1000tons)
Work-in-progress
Closing Stock:
Raw materials
Finished goods (2000tons)
Work-in-progress
Cost of factory supervision

Rs. 120000
Rs. 100000
Rs.40000
Rs.300000
Rs.1440

Rs.20000
Rs.16000
Rs.4800

Rs.22240
Rs.32000
Rs.16000
Rs.8000

Selling and distribution expenses: Re.1 per ton sold. 16000 tons of Commodity X were produced during the

period.
(R@S oY G851

10




